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u(r,6) = R(0(0),
u(rye) =+ — R(D() = - = 0(0) = -
u(,6) = - = RO)B(6) =+ — R() = - (]
u(e,0) = = R(e)®(A) = = R(e) =
e+ Ty + g = = 1 R)B(6) + rR()D(0) + R(r)2"(6) =
r'R"'(r)+rR'(r) ®"(0) _
RO) T a0)

- TYR/I(,’,,) +T,R/(,r) B @//(9) N
=" =55 = ©
L0 T‘TR”(T) I TR/(T') . )\R(T) pun (I)//(e) 4+ )\(I)(Q) — o,

{ = { r"R"(r) + rR'(r) — AR(r) = o, { &"(0) + AWD) ==,
R(Y) = R(e) = - | ome )

R(r)zrm:>mv—/\:°:=>m\v=i\/x-
(ks mnmss my=v== R(r) =a a7
=> R\) =a+clnV=¢, R(e)=¢c+cylne=c +ec. @
R\)=R(e)=c=c=0+cx=c=0c=cr=>°
= Rir) =

TN A=E"> o k>0 = my = VE = k.
= R(r) = cr* 4+ cr™* = acosh(kInr) + bsinh(kInr).
RO ="ty oy oy =g Dre g S oy = =26,
R(e) = e = ¢,e” 4+ crve ¥ = acosh(k) + bsinh(k) = @
— cief — ce™* = bsinh(k) = -
= Yo sinh(k) = bsighlk) =« =6 = b = == gy = o,
=2 0 == Co i AL iR e 3
s=:Ble)s
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= R(r)=-1bh=nrn="4¥¥-

5 ( r) = acos(klnr) + bsin(kInr).
D) = 5 g
R(e) = o= bsin(k) == b=- | sin(k) =

= i R ( ) = by, sin(nm lnr), il =7,
" Y v
{ o oot => ®,(0) = sinh(nn0).
et un(’r 0) Rn(r)(I)n(H) = bn sin(n In7) sinh(nr).

— u(r, 0) Zun (7, &)= an sinh(n7d) sin(nwlnr).

n=\

u(r, g) = sin(¥rlnr) =>-sin(¥rlnr) = z by, sinh(n7' /Y) sin(nr In Bl
n=\

:b\cSinh(Yﬂ'Y):\, b\:b\':br:ba:b;:"'=°.
= u(r,0) = by sinh(¥70) sin(¥7Inr)

| : :
@ = Sinh(v77) sinh(¥70) sin(fm Inr).
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